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Q17.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Question
Number

Answer

Mark

Notes

@0

B1_ accept 3

0]

5al

BT any combination but do NOT
accept multiplication
signs

®) ()

Bx=90+3

1.5 ol

M1 or 9+3 +8 with or without
brackets
la1

[0}

Gy=1aor7y -
2y = 14 or 5y =
g+ 6

orsy -14=0

M2 for correct rearrangement with
|y terms on one side and numbers on
lthe other AND correct collection of
lterms on at least one side or for
lcorrect collection of to 2 terms

M1 for correct rearrangement with
|y terms on one side and numbers on
lthe other eg 7y - 2y = 8 +6

jor

lcorrect collection and simplification of
leither numbers or y terms eg. 5y - 6
= sorsy=aorby =14

|a12.8 oe dependent on at least one
M1

©)

xZ-6x +0x -
54

x2+3x]
- 54

MI 4 correct terms ignoring signs
or for 3 correct terms out of 4

lterms with signs

la1

Total 9 marks|
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Question Working Answer | Mark | Notes
Ix=7ordx 3| M2 for correct rearrangement with x
or 7x - 3x terms on one side and numbers
or4x-7=00e

on the other AND collection of
terms on at least one side
or for 4x-7=00e

M1for7x-3x=2+50e

ie correct rearrangement with x
terms on one side and numbers
on the other

Al

Award full marks for a correct
answer if at least 1 method mark
scored

Total 3 marks
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Working

Answer

Mark

Notes

Sx=-15or 5x=
or3x+2x

orsx+15

M2 for comrect
reamangement with
 terms on one side
and mmbers on the
other AND correct
collection of terms
on at least one side
M2 also for—Sx=
15,

Se=16-1or
“2x-3x=15

M1 for
comect

reamangement with
 terms on one side
and numbers on the

comect
reamangement and
simplification of
mumbers or x tems
eg.Sr+16=1or
Sr=aorSx—a=0
m==15(#5)

AT

Award 3 marks if
M1 scored and
answer comrect.

okl 3 s
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Question] __ Working Answer | Mark Notes
3x=7-2x T
Mior x=2-""
3 3
5x=7 or
5x-7=0 or x+
140e| 3 |A1  Answer dependent on

at least M1

Total 3 marks
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Question Working | Answer | Mark Notes
M1 Ml for correct expansion {18y + 30}
M1
050e| 3 |Al  Dependent on atleast M1

Total 3 marks
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Question

‘Working

Answer

Mark

Notes.

6x+15

M1

for correct expansion of bracket OR
division of all terms in a correct equation by
3

Grx=4-15

ML

for correct rearrangement within a correct
equation with x terms on one side and
mumbers on the other

ard full marks for a correct answer i at
least 1 method mark awarded (allow — % as

final answer)
accept —1.57(1428..)

Total 3 marks
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Question

Working

Answer

Mark

Naotes

Sx-x=8

10

MI

Tor correct rearrangement with x ferms o
one side and numbers on the other in a
correct equation or

the correct simplification of either x terms or
‘numbers on one side in a correct equation

g dx—8=-10:5x=x~2

MI

of dx=2ordx+2=0 or —4x-2=0
NB: This mark implies the previous M1

&

Al

g ~= depon Ml
oeeg 5 depon

Total 3 marks
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Working Answer| Mark Notes

3@-5)=3x-15 3 MI  For correct expansion of bracket
(seen anywhere)

3x-15

-15-12 M1 correct rearrangement with x

or terms on one side and numbers on

3x the other side

oe —15-12=7x—3xor
3x— 2+ 15 or better

-6.75 Al Award 3 marks if M1 scored and

answer correct. aceept =6.75 oe

Total 3 marks
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Question Answer | Mark Nates
M1
e 2| fm!-"oteg%
® | 2%k=1-c M1
t=2k+e| 2 | Al NB:2k+eonlyon answer line
scores M1 ualess 1= 2k + e in
working and then MIA1
© » 1 |B1
@ 1 1 Bl
© 278y 2 | B2 IfnotB2then

BI for any two correct terms ina
product
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Question

Answer

Mark

Notes

@

M2

for correct rearrangement with x
terms on one side and numbers on
the other AND collection of terms
on at least one side

or for Sx=23=00r 23~ 5x=0
M for 7x=2x=17+6 oe

i correct rearrangement with x
terms on one side and numbers on
the other
orSx—6=17orTx=2x+23

-
niw)
I

AT

Award full marks for a correct
answer if at least 1 method mark
awarded

®

+16

X2+ 10z
+16

BI for 3 correct terms ignoring
signs or 4 correct terms with correct
signs

Total 5 marks





image15.jpeg
Question Answer | Mark Notes
Number
@ 7] 1 Bl cao
(b) 2 M1
7 AL <o

Total 3 marks
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‘Working Answer Mark Notes
3x-5+3x+dx+2 4 | Ml comect expression for perimeter
(=10x-3) (may be seen in an equation)
3x—5+3x+dx+2 M1 dep
or

10x-3"=62
g 10x—3 M1 (dep) correct method to collect x
terms in a correct equation
AT dep on all method marks
65016

sC

B2forx=6.5and 3x65-5+
3x6.5+4x6.5+2=62

(B1 for a value for x substituted
into correct expression for
perimeter

eg. 346

5+3x6+4x6+2)

Total 4 marks
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Question Mark Notes
@ 1 Bl _cao
® 2z M
Al
© 3 Ml for 6215
M1 For correctly collecting ferms in
2 on one side and numbers on
the other of an equation.
AT dep on af least one Mmark

awarded

Total 6 marks
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Question | Working | Answer | Mark Notes
(a) s 1 B1
() | 8y=-12or M1
—8y=12 2

Al
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Question Working Answer | Mark Notes

@ | Eg3x=210r3x=26-50r —3x=-2lor M1
- or21-3x=00r(26-5)+3

O] M1 for20y—dor 18y =21

For a correct equation with the y
terms collected on one side of the
equation and the non y terms on the
other side

M1

5 [a1 oc deponatieasil

Total 5 marks
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Question Answer | Mark Notes
MI  for a corsect equation with terms in y
@ on one side and mumbers on the ofher.
125 2 | Al mrizsortorly
© T-1=5x M multiplying x by 5 (seen as part of an
cquation) or showing
-1
g Tx—5x=lorde= MI for isolating terms in x
Tor
U
o 3 | AT forior0.5 dep on Ml scored
2

Total 9 marks
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Q Working Answer | Mark
(@
125
oc
2 Award M1AO for 1.25 embedded.
® MI For correct expansion of bracket
M1 For collecting terms in y on one
side and constant terms on the
other (as part of a correct
equation).
5.40e Al gg Zop52
5
Dep on at least M1
ScBl for
8y-18
3 818
Alternative Method
syoie_ L yoey s M1 For dividing both sides of the
3 equation by 3 as part of a correct
=y+3oe equation
. 18 M1 For collecting terms in y on one
S Tys3rjorsy side and constant terms on the
=27 0e other (as part of a correct equation)
540¢ Al pg Zors?
3 Dep on at least M1

Total 5 marks
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Answer | Mark Notes
s 1 Bl
6 1 Bl
3m+11p 2 B2 for 3m+ 11pas final
answer
(NB.3m+ 11p =14mp
gets B only)
Bl for3mor 11p
2+ 10y 2 B2 fordr+10yor2Qx+
5y) as final answer
(NB. 4x + 10y = 143y
gets B only)
B1 for 4x or 10y
2%(=5)" + 6x=2 or M1
2(=57+6(=2) or
50 and -12
38 2 Al

Total 8 marks
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Q Working| Answer [ Mark Notes
6] B[ 1 [m
(i) |ey=23-5 M1 or23-5+60r
3| 2 |2216.. (2dp necessary)
or2217
AL Answeronlyor
numerical method
=M1A1
(b) (i) @ 1 |m
(b) (i) 302 1 Bl
(b) (i) | 1 [e1
(@ -2x60e M1 accept36-12
2| 2 |m

Total 8 marks
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Ques ‘Working Answer| Mark Notes
Ax=13-5 2 2 Ml 4x=13-5
Al
Eg6r—2t=5+9 3 M2 Forall  terms on one side and all

ordr =14 or 4t
=-1doe

35

Al

_6t-2t-5=90r6

numbers on the other side of a correct
equation or M1 for all # terms on one side
or all numbers on one side of a correct
equation eg 4 — 5= 9 or 61 =2+ 14 or
1+9+5ete

oc dep on M1

6y +6+2y-8

Al

For 3 comrect terms,
oceg2(dy—1) (NB:8y+—2isMl
only)

oc eg 0.5w

B1 for a partial. but correct,

simplification with at least 2 correct
wx 2 ,

PP

4w
cancellations. eg — . .
3 472y

w(4+8) etc or kw where k is a number

Total 9 marks
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Question
number

Working

Answer

Mark

Notes

@

x=1-9or
2x=—8or
20+8=0

ML

Al

Award 2 marksfora
correct answer, unless
clearly obtained by an
incorrect method

®)

&-3=6or
2p-1=2

ML

Tor correct expansion (6

—3 seen) or correct
division of both sides by 3
2y-1=2)

May be implied by second
M1

MI

Tor correct reamrangement
Alsoaward for 6y =61
or

6y=Tor6y-7=0 if
precededby6y—1=6

12 0e

Al

Award 3 marksif answer
is corect and atleast one
‘method mark scored

Total 5 marks
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Question ‘Working Answer Mark Notes
@ (O 18] 1 [Blcao
@) 3] 1 |Bleao
® OH=@2x10)— MI  Correct substifution
(4x2)0r20-8 12| 2 |al
© 18=5c—4x3 or MI  Correct substitution or
o4 rearrangement
c= oe
5
Sc=300r
18+4x3 L4
(e=n—22 6| 3
Al cao
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‘Working Answer | Mark Notes
cgxFx—8Ftxtx— 4 |MI A correct first stage to
orw+w+w+w+16=54 find the length or width
54 of the rectangle
or =
- M1

cg.T0+40r38+4

“17.5% x %0 57

166.25

M1

Al

For a fully correct
method to find the

length or width or for a
correct length or width

For a completely
correct method to find
the area of the
rectangle

Total 4 marks
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‘Working

Notes

Sy=10-17or 5y=—7 or
17-10=-5yor 7=-5y

-1z

Al

for—1.40r—2 or—12
ol

®

S-5E1R-g)
12 g
55

= g

Eg 5g+q=12+15 or6g=27

M1

For a correct equation
with the g terms

collected on one side of
the equation and the non
g terms on the other side.

fifomSg-3=12-¢
for this mark only

a5

Al

ford5 or %oedepmat

least M1

©

Tt=31-3o0r7r=3-310e

—Tt=31-3or7r=3-31

ortz—4
accept an equation or the
wrong inequality sign

Al

orfor—4=1¢

Total 10 marks
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Question Working Answer | Mark Notes
2 T Bl
@
© | 3y—t2x4 or dy—Ror) 2% 7 [l
6 Al

© S(2c—3) | 2 |B2 AwadBlfor 3(6c—9)
SCBI for 9Q2c + 3)

@ 7 —a1+51-20 2 | M1 For three correct terms out
of four or for four terms
correct except for signs.

£ +1-20 Al

Total 7 marks
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‘Working

Answer

Mark

Notes

10 < 42 % 7.5 or 315 (car’) oe

ML

For volume of cuboid

Eg

%7 xxx50r 17.5x0e

M1

indep
For volume of
triangular prism

M1

Dep on M2

For a correct equation
involving volume of
cuboid and velume of
prism or

For a correct
expression for x

18

Al

18

SCB2 for For volume
of cuboid = 315 and
final answer =9

Total 4 marks
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Working | Answer | Mark Notes
1 3 |M1
~x8x15 or 60
'60'+ 12 M1 (dep)
5 Al

Total 3 marks





image32.jpeg
Q ‘Working Answer | Mark Notes
@ |25 -7%3) oeeg MI Brackets must be round (—-3)°
“21)
or2x9+21or18+21
39 2 Al
®) 4x+12=9%x-100r M1 for 4x + 12 (may not be inan
L% 10 equation) or for dividing RHS by
4
Ml (& fom v +b=0x+10)
for all terms in x isolated on one
side and numbers on other side
4 3 | Al
forddoe cg
at least M1
© =101 | 2 | B2 Blfor —2.-1.0,1.2 orlistwith
2,3

one error of omission: e.g. —2
-1.0.1.2
“1123 e

-1.0.1.2;
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Question | Working | Answer | Mark Notes
@ 3+@x2)oe MI  Accept 3+4x2
11| 2 |Al  14withno working = MIAO
®) G5-3)=2 M1 Accept 35-3+2
16| 2 |Al  33.5withno working = MIAO
© Ml 9" +8& 297 +3seen
or correct table of costs for Budget and
Economy
taxis to nclude the costs for 5 k.
km [B [E
1[5 |o
2 |7 |10
3 |9 |11
4 |u |12
5|2 5: Jaz |13
Al

Total 6 marks
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Notes

Question ‘Working
® for 60
© [376c1m for36(-18)
for 20
©
or %2

Total 4 marks
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Q Working Answer | Mark | Notes
@ |27 5737 M1 For —100r2l
11 2 a1
®) |5x-20(=149)orx—4=145 M1
Sr=3dorx=4+14/5
x=68 68 2 | Aloe Allow 34/5 oe

Total 4 marks
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Question [ Working Answer Mark Notes
@ | 6x=20- MI  Brackets notnecessary
Sor 6x 250e| 2 |Al  Comectanswerwithno
15 or 20 working =MIAL
-5)+6 sc M1 A0 for 19.16 or
better
® MI M for8y-20
M1
6250e| 3 [Al  deponMiawarded

otherwise MOAD

Total 5 marks
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Question | Working | Answer | Mark Notes
3x-12-5¢+8 M1forax—12
—20=2x0e M1 separating x'sand numbers
-10 3 Al cao (deponM1)

Tota

3 marks
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‘Question. ‘Working Answer Mark | Notes
39 T Bl
@
® 11 1
©  |3-3m=8xdoar3-3 MI Multiplying both sides by 4
as a correct first step ina
correct equation
o3 MI For isolating 5m or —5m ina
29 0r-29=5m corect equation
sg Al oeeg — dependent on at
Least M1
Alternative for (c)
© 3 |MI For using quarters (ora
multiple of 4) and isolating
the term in » in a correct
equation
N 3 MI For isolating 5 or —m in
—Sm=(8=)x4 or a correct equation
£ x4
4 )
-58
Al dependent on at

least M1

Total 5 marks





